OXFORD WATERFALL DESK

ASSEMBLY INSTRUCTIONS FURNIT E
BOX #1 BOX#2
A. PEDESTAL BASE B. DESK TOP
C. DESK LEG

HARDWARE PACKED IN BOX #2

O

I ALLEN BOLT (M6X50) 3 PCS
2 ALLEN BOLT (M6X38) 4 PCS
3 SPRING WASHER (M6) 7PCS

4 FLAT WASHER (M6)

N

S

7 PCS

5 ALLEN KEY

=2V

1 PC

OXFORD WATERFALL DESK ASSEMBLED

N




\

DESK TOP CAN BE ORIENTED
LEFT OR RIGHT. SIMPLY
POSITION THE DESK TOP
WHICHEVER ORIENTATION
YOU WISH

"
e

ASSEMBLY COMPLETE




